TITHIE-1 TH3fex Afunret AH3- TA<t
Worksheet-1 Real Numbers class- Xth
11.. UfIHS Afe™ &7 €RHSBS YAT .. At
1.99 f&x 3 Aftmi § nisa Aftmret 2 ger J|

W3t ¥ gEees € U 99 wIATenT AT AdET
I (AJA®3)

Every composite number can be expressed as
product of prime numbers. (True/

False)

2. /5 B nufgnw wftmr I

V5 is an irrational number.

(AJ/ar%3)
(True / False)

(AY/ar%3)
(True / False)

S.V;:fs”au%ﬂsrﬁfdw%

1 is a rational number.
V2

4. AT 64 M3 96 ¥ H.AS. JI
H.C.F. of 64 and 96 is
)32 »)8 ¥ 16AH) 4

5. 3v5 x 2v/5 B niufgns mfemm I
(AQ/T®3)

3v/5 x 2+/5is an irrational number.
(True / False)

R
(A= / ™MHAT)

. . 35 .
Decimal representation of 70 will be

6. 2% & THHER YA

(Terminating / Non terminating)

7. mfEx Aftmr T
(ufars / niufara)
7 1S an number.

(Rational / Irrational)

Find the Decimal representation of %7 .

9. 0.1201200120001 & At T
(ufarnw / niufars)
0.1201200120001 is a/an................. number.

(Rational / Irrational)

The decimal representation of a rational number is
Either...oiiiecd OF e

12. =R fa uforw Bftet T TaH®e yAg
A3 J6 A H3 eIt 36|
State whether the following rational number

will have a terminating or non-terminating
decimal.

73
(1) 1850

2) 96 =
23 x 54

(3) _229 =
23x32x 5’

13. JT&US JU S YT IS |
Complete the factor trees.

24

/\

2 12

ah
AN

3

14. HftmT 156 & »i8™ Hitmiet € Jeaes ©
U <9 TIAE |

Write 156 as a product of prime factors.
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18. 510 M3 92 ¥ H.A.Z. W3 B.AH.IUS &9 M3 7

15. 6, 72 W3 120 T H.A.Z. W geaus feut a3 fx & Aftmret T JE5e® = HAR. x BHE.
It U I | Find the H.C.F. and L.C.M. of 510 and 92, and
Find H.C.F. of 6, 72 and 120 by prime factorization verify that Product of two numbers =
method. H.C.F.xLCM

19. Aftmret 306 M3 657 @ H.AHS. 9 J1 fegst @r

BHL. UIT I |

If H.C.F. of numbers 306 and 657 is 9. Find the
L.C.M. of these numbers.

16. 135 3 225 T H.A.T. UR(®S <5 MBI IEH
I Uzt FI|
Find H.C.F. of 135 and 225 by Euclid division
algorithm.

20. M3 JEaus fedt It Jo fedort Hftmret @r
HAZ. M3 AL U3 d9:
1) 8,9 »3 25 2) 12, 15 3 21
Find the H.C.F and L.C.M of the following numbers
by using prime factorization:
1) 8,9 and 25 2)12, 15 and 21

17. g &9 fa 3 + /5 5 nufors Bt I

Prove that 3 + \/gis an irrational number.

21. ¥R 3x5x7+7 f&€q 31 Aftnr a8 32

Why 3x5X%7+7 is a composite number?
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TIAHIZ-2
Worksheet-2

gJJue
Polynomial

AH3- A<

Class- Xth

1. It gguw <t & Gergas e

Give an example of a linear polynomial.

2. ff f35 w3t ggue @i du 3 IO
fgatrt fAgat I AaEit Is |
How many zeroes are of a cubic polynomial?

3. A%9 a »3 BT WS TgUT ax’ + bx + ¢
it © fAgar 9= 3 :
fAgat T 77 (a+P) =
fAgat & = (ap) =
If aand B are zeroes of polynomial
ax’+ bx + ¢, then
Sum of zeroes (a+B)=...............

Product of zeroes (af) = ........ceen.....

4. 7933 p(x) & g(x) &% I &i3T A I
IES q(x) M3 r(x) It 9= 3T TR T I
WMEBATIEH 9 | When p(x) is divided by
g(x) then we obtained qg(x) as quotient and
r(x) as remainder , write division algorithm
of it.

5. 83 wiray @9 gguT p(x) Tt 8t freat
Js?

In given graph how many zeroes are in

polynomial p(x)?

6. TIUT p(x) T WM& 3 y=p(x)
ot fAegt &F farsst usT a9 |

The graph of polynomial p(x) is given. Find

the number of zeroes of y = p(x).
X

Y Y

7. 8 € wst ggue uzT a9 fARe fAegt =
13 -7 "3 IE6S® 10 J
Form a quadratic polynomial, the sum and
product of whose zeroes are - 7 and 10.

8. o x=Y%gguT 2x*-6x + 3 & f¥x fA=g
37
Determine whether the x = % 1s a zero of
polynomial 2x? - 6x + 3?

9. Axg & qurst ggue 3x2 + kx - 2 ©F f&x
fHeg -2 IR 3T ke H® U3T &9 |

If one zero of quadratic polynomial 3x? + kx -
2 is -2. Then find value of k.

10.9gUT  x>-6x+5 it fAEdr = A3e® »i3
JEoe® UST I |
Find the sum and the product of the zeroes of
the polynomial x>-6x+5.

11. f¥x Sw=t ggue usT &9 far dnr fAegt
Js fednt I& |
Form a quadratic polynomial whose zeroes
are as follows:

()5, -6 (i) 2 + 3,2 -3
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12. FJUT p(x) =4x* - 8x> + 8x - 1 & g(x) =
2x2 - 3x + 2 &% I J9A  FAEH M3
gt U3 I |
Divide the polynomial p(x)= 4x> - 8x* + 8x - 1
by the polynomial g(x) = 2x? - 3x + 2. Find
the quotient and the remainder.

13. ggue 4x* + 2x° — 8x2 +3x -7 f&F° o
werEle fa feg ggue 2% + x - 58
Iz A< |
What must be subtracted from
4x* + 2x> 7 8x2 +3x -7, So that it may be
exactly divisible by 2x? + x — 2.

14, 992 x*+x2-6x-3 ¥ € fAgT -3 ni3

V3 JT 3T gal doft fREdt usT J9 |
Obtain all other zeroes of 2x* + x2 - 6x - 3, if
two of its zeroes are —v3and V3.

15. 79 a M3 BT WSt gguw it © fAgat

JEnm3 a+B=30a-Bp=-133%
W=t gguT U3T F9 |

Find a quadratic polynomial whose zeroes
are o and Psatisfying the relation a + 3 = 3
and a-fB = -1.
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SIIHIZ-3 € 9% f&g Ut Atags @ A3 AH S-SRt

Worksheet-3 Pair of Linear Equations in Two Variables Class-Xth
1- It &3 mHiaast R9° fxashor € gt =% A pair of equations x=2, y=6 graphically represents
JuT Atg=t I& | Determine which of the lines.
following equations are linear in two variables. 1) Parallel 2) Intersect at (6,2)
3x+4=0, 4x-2y+5=0, 3x%+4x=1, 3x+4z=5 4) Coincident 4)Intersect at (2,6)

2- fH®E &9: Match the column:

%;¢%;¢g—; a’ﬁj’&ﬁ/Noso|uhon 6) 3X+7y=4€ﬂ7—|"3‘0’&'8°[5_d %—tﬁ-ﬂj'ﬂm
- L f®" 1 Write any one Linear equation of the line
ii. %=% # % =% ¥ I&/Exactly 1 solution o y a
2 b2 2 which is parallel to 3x + 7y =4 .
e Q1 D1 _ Gy ~ v .. .
iig=p,=c, "od J&/Infinite many solution
3_
i.7gg 8 Juet fex fig 3 Jedhrt Iz 3t it miftage 7) a T H® U3T &9,7dd AHGGE yTi&r gnaT
yT@E e % Jer TIATEMT Ut 3x+2y-4=0MW3 9x—ay—-3=0
If two lines !ntersect at one point, Fhen pair of R B9 B39 9= | Determine the value of
linear equations has solution. L, ) ]
ii 7@ & Juret MHET 9T 3 9dt miteeE yEet E a’ if the system of linear equations
J® Jer I 3x + 2y -4 =0 and 9x —ay — 3 = 0 will represent
If two lines are parallel, then pair of linear parallel lines.
equations has solution.
iii. 7o & et AUTSt JT 3 It mtaes YTt 7
I% JT T5 |
If two lines are coincident, then pair of linear
equations has solution
4- R it miegst v 5 Ao I A 8) k¥ W& UST &J, HeG JuT 2x -3y =6
YHJI3 | Determine whether pair of linear equations is M3 kx - 9y =18 AHZ9 J= | Eind the value of k
consistent or inconsistent. so that the lines 2x — 3y = 6 and kx - 9y = 18 will
a) x+2y =4,3x+6y =12 be parallel.

b) 2x-7y =1,-4x+14y =2

5- It AHiEIET B A3Tx=2, y=6 &t JU <9
9) kv fauz H® &t fett milaast (k-3)x + 3y

Juet § TIAEE J| .
, . y , =k, k(x+y) = 12 € niEfdEs I& JEdi?
> FHTSS 2) fa—;’ (6,2) %\ g . For what value of k the following pair
3) AUTS 4) fdeg (2,6) 3 At has infinite number of solutions. (k-3)x + 3y = k

k(x+y) = 12
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Q.No. 10 k T H® U3T &9, 7dd It AHtEdE
YT x+2y=5, 3x+ky-15=0 T f¥x fesus
J® I For what value of k, will the system of

equations has a unique solution. x+2y = 5
3x + ky -15 =0

Q.No. 11 79 5 USHS m3 7 Ust & i3
50 JUE, M3 7 USHAS M3 5 Uat & diHS
46 JUE I<, 3T 1 UsA® w3 1 TS € HI
UsT 9 5 pencils and 7 pens together cost Rs.
50 whereas 7 pencils and 5 pens together cost
Rs. 46. Find the cost of one pencil and that of
one pen.

Q.No. 12 mHiaggz Y&t § I% &3 @ Solve the
equations: 3x—-y=3, 7x+2y=20

Q.No. 13 AHlgIE Y&t § ey fedt gt
I% 9 | (IS YUT & I3 A9d) Solve the
equations graphically (Use Separate Graph paper)
Ax—y=4, 4x+y=12

Q.No. 14 AHISTE" x-y+1=0W3 3x+2y-12
=0T ore a9 | y -u9 i3 fEast U=t 7%
ge f3ga © fAugt ¥ fodem »ix U3™ &9 »i3
f3gm a9 839 § Efenm-nifas a3 |

Draw the graph of the equations x -y +1=0
and 3x + 2y - 12 = 0. determine the coordinates
of the vertices of triangle formed by these and
the y-axis and also shade triangular region.

Q.No. 15 f&€a nfredt 370km Tt AT &,33
T IBAST T W3 FS F9 enfdm 3
FdeT J, 79 €7 250km ISIAST TATIT iz
g& 9 g9 3N F9eT J 3T GRS 4 ule
Bad TS| Y3 Axd 8T 130km ISt goraT
W3 TS a9 9T 3N 9T I 3T BAS 18
fife 30 SI° I513%IET w3 I T TH U
9 |

A man travels 370 km partly by train and partly
by car. If he covers 250 km by train and the rest
by the car it takes him 4 hours, but if he travels
130 km by train and the rest by car, he takes 18
minutes longer. Find the speed of the train and
that of the car

Q.No. 16 € nigt T Afanrm € vidt =7 73 9
J 17959 Aftmi feg' 27 wer fe3 7= 3t Gre
vigt § 8®er & At g AET I, Afim usT
&9 The sum of digits of a two digit number is
9. If 27 is subtracted from the number, the digits
are reversed. Find the number.
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TIIHIC-4

Worksheet -4

¥ WSt AHlagE

Quadratic Equation

AHS-TR<

Class-Xth

1. Jo &3 &5 fagst mitaes © wst miags 37
Which of the following given equation is quadratic
equation?

a) ax’+bx+c=0, az0 b) ax+b=0,az0
2. 79 99 fx Jo fefant 5" fagzm € w3t mitses
x2+5x-6=0 & H& 37
Which of the following is a root of quadratic
equation x2+5x-6=07?
(iy 2 (i) 3 (i) 1 (iv) O

3. Jot fardot mitaest &5 faast mitege ©

w=t IG5

Check which of the following given equations are

quadratic equation.
a)x?+3x-1=0
b) (x+1) (x+3)=0
c) (x-2)2=x2+3x+5
d) x ++=7

4. AHIETE 2X-ax+6=0T Ea yB 2 R 3t a &
HS Y37 &9 |
If one root of equation 2x*- ax + 6 = 0 is 2 then
value ofais

(iy 7 () -7 (i)

B 1=

(v —

(S|

5. AHIITE ax’+bx+c=0 ¥ ¢ 35 85 n3 Tmsfex
H® J&d Ad9 b*-4ac
The roots of Quadratic Equation ax?+bx+c=0 are
real and unequal if b%-4ac

(i) =0 (i) =0 (i) =0 (iv)=#0
6) fHos a9:
ITHBH 1 ATHBH 2
1. © 195 {95 TH3fed U b%-4ac=0
2. 9989 THSIRA HS b2-4ac <0
3.3t TR HS &It b’-4ac>0
Match The Column:
Col. 1 Col. 2
1. Two Different and Real Roots b%-4ac=0
2. Two Equal and Real Roots b%-4ac<0
3. No Real Roots b%-4ac =0

7. H&' & UIfgst UsT IS | Find nature of roots:

1. x> +5x+6=0

2. 6x%-x+2=0

3. 4x*4x+1=0

8. k¥ H® yzT &9 3t 7 f& 3t I € w3t milage
€ H® §9E9 J AT
For what value of k the given equation have equal

roots.
1. kx2+3x-4=0

2.  y2+6y+k=0

9. H® Y37 9. Find the roots of given Equation
(i) 2x2-3x+5=0
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(ii) x-%=3

(i) 5x*=2x+2=0

10. JEays fedt gt I 9.
Solve by factorization.
1.3%-7x-6=0 2.2~ x+2=0

11. Y35 399 I & IS F<.
Solve by completing square.
2x2-5x+3=0

12. € nifidtort B39 2ix TETSHE HYIs Aftmret
U3 9 fAgt € F9ar T A7 290 I |

Find two consecutive odd positive integers whose sum
of the squares is 290.

13. 5 ¥ € 39 AT T JTaed 300 I, T
J&7 U3t 9 |

Product of two consective multiples of 5 is 300 . find
both multiples.

14. T HAftmret U3t 99 fragh € 7% 25 3 o
154 I

Find two numbers whose sum is 25 and their product is
154

15. 7 7% Ufgst ege St GHI et &t B =7 5
IS AT 3 A% gmiE ASST ©f B eges <& Bvo =
2/5 & J A |1 2Tt it TIIHS BHIT U3T I |
7 years ago Varun's age was 5 times the age of Swati’s
age after 3 years Swati’s age will be 2/5 th of Varun’s
age. Find the present ages of both.
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TIIHIE-5
Worksheet-5

MadIE3 B3t

Arithmetic Progression

AHS-TA<

Class-Xth

Q-1- fxa3t nigafesa &3t (A.P) T ?
Which sequence is an A.P ?

(1) 1.,3,9.,27 ,.........

(2) -10, -6, -2, 2.,

Q-2- J& ot nigdrfesa &3t (A.P) T ufg® ue(a)
™3 AST 3T (d) U3T J9:-

Find first term and common difference of given
A.P’s :-

(1) -5, -1,3, 750

(2) 2,4,6,8

s5 13
(3) - ’3 ’37 3 ---------
Q-3- MIJIfE3d 3T (AP) T I TIAE UL U3T

XJ:- Find the mentioned terms of given A.P
(1) 10,13,16,19 20T Ug | (20 term)

2) A9 a=10, d=2 J2 3 a,, U3T &9 | (find ao)

3) 5,11,17,23, ..., .. ngt Uy=? (find n' term)

Q-4- IJ&t I3t vigarfesa s3It (AP) T Uet &F
far=st Uz a9 -
Find the number of terms of the following A.P

(1) 5,811, 95

(2) -5,-8, =11 ............ -230
Q-5. fHo=E a9
TSI a1,a2,a3........an T WiFdIfe3s 3T J= 3

Match the columns:
If aiazas........ anare terms of AP.

ATHBH 2
Z[2a + (n— 1)d]

ATHH 1
1) n & U< (n'term)

) nUEr T A3EH (S, ) az—aq
(Sum of n terms)
3) ATsT »iz9(d) a+(n-1)d

(Common difference)

Q-6 u@ 8 39 : (Fill the blanks)

Q-7 F59 an=3n + 2 J< 3T &I UST AJ |
If an=3n+2 then find AP.

Q-8 &t fesT Ifenm niery fex AP & TgA8eEr J7
Whether the given graph represents an AP?
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Q-9 an3 bT H% UsT a9 749 a, 7, b, 23 AP. Q-13 Wﬁ}, 7,12, T ufas 12
YT d7 A3c® U3T dJ |

%H J&| Findaandb ifa, 7, b, 23 arein A.P. Find sum of first 12 terms of AP 2, 7, 12,

Q-14 8% ufg® 15 JIEA T H3EH U3 I |
Find the sum of first 15 multiples of 8.

Q-10 wigafssx It AP 21, 18, 15,........... ar

et ug -81 J?

Which term of A.P 21, 18, 15,............. is -817?
Q-15) 636 A% Y3 II6 BT AP- 9,17, 25,...........
T 33 ue &8 grdie I5 |
Find number of terms if sum of A.P-9,17,25,.................
is 636.

Q-11 o 146 nixdifesa &3t 4, 9, 14, 19,............. ar
ug J?
Is 146 is the term of 4, 9, 14, 19, .................. ?

Q16 TR Faw @ fefonmadnt § 85 & M
YTIRs &ET 7 dae f&aH ¥ &g 700 guT <
IH St IS T | AA9 IIX fEEH »uE 3 Bt
ufg® fea™ 37 20 JUT e J= 3T I9x feay @r
HS UST I |

A sum of Rs 700 is to be used to give seven cash prizes
to students of a school for their overall academic
performance. If each prize is Rs 20 less than its
preceding prize, find the value of each of the prize.
Q-12 .87 A. P. T 31 yg u3T &9 famer 11=F ue
38 »3 163T UT 73 J|

Find 31% term of AP, Whose 11t term is 38 and 16%
termis 73.
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TIAHIZ-6
Worksheet-6

IECGH

A=

Triangles

AH3-TA<t
Class-Xth

. Ad 99 JT I&| (ATHIHH, AHIY)
All circles are .(congruent, similar)
CAS 33w AHgy d% 91 (e,
AHESHT, AHSH)

All triangles are similar. (scalene,
isosceles, equilateral)

. AHgY fo39t Enff € Bergast fell
Give two different examples of pair of similar
figures.

. Jot fe3 337 faast

IHST IOt AHIU T5?

A . P
) 60°
60°
. ‘ . O
20° 80
Q R

(®)gA-g-gA (1) ST-oT-aE

(8) IT-SE-3A"  (H) AE-A-oE

Under which similarity criterian the given triangles
are similar?

(A) SSS (B) AAA  (C) SAS (D) ASA
DE _ EF
. 79 AFED~ ASTU J 3t = T =710 9 J 1 (AS/a®3)

DE
If AFED ~ ASTU thensy = ﬁ (True/False)

. x ® fxa3 A B

e DEIAB T
What value of x

will make DE || AB.

. € AHgY f3gA Eff 3Aet T nigums 429 T
fegst f3gAT T U3ISHT T MU J<aT:

®) 2:3 () 4:9 (¥)81:16 (H) 16:81
Sides of two similar triangles are in the ratio 4:9.
Areas of these triangles are in the ratio:

(A) 2:3 (B) 4:9 (C)81:16 (D) 16:81

8. fam f33m A ABC fST AC?
faazT d& AHIE Jar?
®) 2zA w)szB (¥ 2C (A7) St &
If in triangle AABC, AC® = AB’ + BC’ then which
angle of A ABC will be right angle:

= AB? + BC? J< 3f

(A) A (B)«B (C) «C (D) None.
A
9. ) A9 DEIIBC 9= 4{;’“ 3cEm
3T EC TTH® UST AT |
If DE |l BC then, Find  12cm ?
the value of EC. B I

w) fiz9 f&g ABIDC 3.A
X T H® U3T I9
AB Il DC find the

value of x
PS P
10. 1%331‘%? TR RRZES
£PST = LPRQ J
fiio a9 fa APQR fEx S T
AHEgHT f337 T
Q R

In the given fig. SQ = R and £PST = £PRQ

Prove that APQR is anisosceles triangle.
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11. 6 HY. Sgret @ fEa &g gu <o vz ffx ¥s
& s ‘3 e & Baret 4 Mt 9, A fx
SR M £ Hiwg & ude< & Bael 28 H.
J1 Hterg € Boret uzT I |
A vertical pole of length 6 m casts a shadow 4 m
long on the ground and at the same time a tower
casts a shadow 28 m long. Find the height of the

tower.
12. 7179 AABC~APQR 92 w3 8¢ =1 3¢
: QR 3

ar(APR 9 -

ﬁ g H® U3T JJ |

ar(AACB) -

L L. BC _ 1

It is given that AABC~APQR with QR — 3 then
ar(APRQ)
ar(AACB)

13. D ™3 E gH9 AABC

(fAgst 2C 8ug AHder E

J) it 3A=t CAMS CB

8ug AfEs I3 | ]
C

fAT a9: AE°+ BD”= AB*+ DE’

D and E are points on sides CA and CB

respectively of a AABC right angled at C.

Prove that: AE*+ BD?= AB*+ DE?

D

14. 8 g=et A0g fEq g2t nig 3 duT 9%
2000 fordt. e & 9% &% 83w J1 €7 AN fEx
J9 IE ATH B TTE S 3 YIg B 2400
km/h &t 9% &% 83eT 1 2 U2 gme <t
J=E Ao € feeaad! gt foat d=aft?

An aeroplane leaves an airport and flies due south at
a speed of 2000 km per hour. At the same time
another aeroplane leaves the same airport and flies
due east at a speed of 2400 km per hour. How far
apart will be the two planes after 2 hours?
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TIAHIE-7
Worksheet-7

fogem nig faufeEst AHS-TA<t

COORDINATE GEOMETRY

Class-Xth

—_

fag (3,7) & x T3 3 T UsT 9|
Find the distance of point (3,7) from x-axis.

W fag © foger wid €A1

What is the coordinates of origin?

feg Jur 3 AfEs 35 At <o fHentt 3
FfJT T |

Three or more points on one line are called

fag P(xy) T y& fig 3 gt usT 391
What is the distance of P(x,y) from the origin

o9 fan 387 T u39e®

3t QA7 fAyg AHOdT JT Is 1
If the area of any triangle is
vertices are collinear.

yO39 3 8T fig uzr a9 7 et (2,3) »i3 (-4,1)
3 g999 TSt 3 J|

Find the point on the y-axis which is equidistant from
(2, 3) and (-4,1).

feargtnt T

units then its

7. kT H® UST A9 a9 fag P (0,2) faent A (3,k) »i=
B (k,5) 3 8989 g1 3 J|

Find the value of k if P (0,2) is equidistant from points A
(3,k) and B (k,5).

8. et (-3,10) »3 (6,-8) & TH& BT T JuHs &
fag (-1,6) fam nieurs feg <5 I7

Find the ratio in which the line segment joining the points
(-3, 10) and (6, — 8) is divided by (— 1, 6).

9. k T H®% U3t J9 da9 fag (8,1) ,(k-4) =
(2,-5) AHIHT JT |

Find the value of k if points (8,1) ,(k,-4)and (2,-5) are
collinear.
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10. fdgntt A(-4,0) »3 B(0,6) 3 TH&ET =& Jus
?ﬁ 9 ANS a9 I8 o fdentt © fogen
g U3T I |
Find the coordinates of the points which divide
the line segment joining A(— 4, 0) and B(0,6)
into four equal parts.

1. @H%@EWWW&HHW( 1,7) m3
(4, 3)§ﬁw@sww $ 2:3 ¥ nigus e
[T J|

Find the coordinates of the point which divides the line
segment joining (—1, 7) and (4, —3) in the ratio 2 : 3.

12. 87 f337 T 439e® U3 od AR © fidg =g
(=4, 2), (=3,-5) "3 (3,-2) T&|

Find the area of the triangle whose vertices, taken in
order, are (— 4, 2), (-3,-5),(3,-2)

13. 79 A(4,2) B(6,5) C(1,4) f¥a f337 ABC© fAug
I&5|I AT T J AT T Hftuar BCE D €3 fhwet T 3
AD T BgTEt U3t &9 |

Find length of median AD of a triangle ABC which
meets BC at D, whose vertices are A(4,2) , B(6,5) and
C(1,4).

14. BF 93937 T 439e® UST J9 WA T fiag gHeg
(1,2), (6,2), (5,3) »3 (3,4) T5|

Find the area of the quadrilateral whose vertices
taken in order are (1,2), (6,2), (5,3) and (3,4) .

15. faentt (5,-6) »3 (-1,-4) & H®BE =& Jur vy
anmmﬁgmm

Find the ratio in which the line segment joining the
points (5,-6) and (-1,-4) intersects on Y-axis.
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TIIHIZ-8
Worksheet-8

f3asfHst g9 ATt

INTRODUCTION TO TRIGONOMETRY

A4S TRt

Class :Xth

1. f939 <9 It &g f3dEH3T nigu™s UsT a9 |

Find the trigonometric ratios for the following

diagram.

A

B C
sinC = 72 sinA=
tanA = cosC =
tanC = cosA=

2. fH®E 9:Match the columns:

) 1
sin(90 —0) pry
c0s60° 1
tan30° !
an 2
sin?@ + cos?Q cosB
secH 1
V3
3. HAT secd= 2 3t gt f3AEHSt niguts Uzt
I | If secd = 15—3 , then find other T-ratios .

~

4. w9 337 ABCTET tanA = % m3 £C= 90°
JT 3T H® U3t I |
If in A ABC tanA :% and 2C = 90° then find.

(i) sin A cos B + cos A sin B.

(ii) sec> A+ 2 tan? A.

5.H® u3T &9 ( Evaluate)

3 cos? 30° + 2 tan? 45° - sin® 60°.

6. H® U3 &9 ( Evaluate)

cosec70°

2sin26°  4tan65°
cos64° cot25° sec20°

7. ¥® u3T &9 ( Evaluate)

sin?10° + sin?80° 4 sin70°

+
c0s?25° + cos?65° cos20°
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11. ¥& U™ &9 ( Evaluate)
9sec’ A —9tan’ A+ (5sin?0+ 5 cos’H).

8. fifu &3, Prove that:

tan 26°tan 23%tan 45%tan 67%tan 64° = 1.

12. fAg x9 (Prove that)
tanA tanA

- =2 A
1+ secA 1 — secA cosec

9. 7T sin 4A = cos (A — 10)°, fiF 4A € {685 d=
3T AT NS UST AT |

If sin 4A = cos (A-10)°, where 4A is an acute angle. find
the value of A.

13. §% Uu3™ &9 ( Evaluate)
cosA —sinA+1

cosA +sinA—1

=cosecA + cotA.

10. 79 sin (A + B) =1, cos (A - B) =£27)‘I§

0°<A+B <90°, A >B.3" A 3B T H& U3T I |

Ifsin(A+B)=l,cos(A-B)=§and 14. 753 A, B 13 C f3g7 ABC ¥ negzi dZ J6 It

. A+B C
0°<A+B <90° A > B. Then find value ofA and B. s fo sin (_; ) =cos >
If A, B and C are interior angles of a triangle

ABC, then show that sin (%) = cos %
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TIAHIE-9

Worksheet-9

f3a=fist © g5 Quudr

Some Applications of Trigonometry

AHS-TA=T

Class-Xth

1. f&x AHaET f3de @9 596, ®g n3 »igg
FEU f&4  Write the relation between perpendicular,
Base and Hypotenuse of right triangle

2. 333t fags fzga 3 &g I<t 31
(1) AHZHt  (2) oift &t (3) AHSET
Trigonometry is applicable for which type of triangle
(1) Isosceles Triangle  (2) Obtuse Triangle (3) Right

Triangle
3. f&a e fgardt = Jger I
Right angle is of degrees.

4. IE € urgterden f3die fod |
Write two Pythagorean triplet

5. fg39 U &9 o
3 §Us dz @7 5T OR |

Identify angle of elevation
and depression from the
figure .

6. 8% 6 Hieg €9 ¥9 © ugae o et 2v/3 .
J, B9® I U3T &9 | A pole 6 cm high casts a
shadow 2v3 m long on the ground, then find the
angle of elevation.

7. f&x 15 . Saret & ISt fea &u © g &% e

et I, 7 89F d= 60° I 3t U = BUEr U3 I |
A ladder 15 m long just reaches the top of vertical wall.
If the ladder makes an angle 60° on the ground. find
the height of the wall.

8. T&3t BT &% f¥x Taus e Afer I ni3 fenr
Jfewnr g1 for 397 &% 43 AT I fx ey =
g mits 3 gag e I »iz fere 5% 30°T d&
gT8TT J1 TIu3 T wio9 g 3 fifE T9us

= fing mfts & g0er 3, < gt 8 vt JiETus &t
8ot usT A9 |

A tree breaks due to storm and the broken part bends
so that the top of the tree touches the ground making
an angle 30° with it. The distance between the foot of
the tree to the point where the top touches the
ground is 8m. Find the height of the tree.

9. ¥ o9 1 AHS® AHls 3 b3t I, @ uga=t B8R
AESt R so oS d AT I AT Ao ©
g &9 60° 3" we I 30° § AT J1 Hieg &
Gt usT A9 |

The shadow of a tower standing on a level plane is
found to be 50 m longer when sun’s altitude is 30°
then when it is 60°. Find the height of the tower.
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10. f€x 100 Ht €9 uarst &t 51 3 fam Hisg @
fag w3 »irg T BleTs JE gHIT 300 W3 60°
I5 | Hterg & 8gret uzr a9

The angle of depression of the top and bottom of a
tower as seen from the top of a 100 m high cliff are
30° and 60° respectively. Find the height of the tower.

11. fex yast €F 9t 3 Y99 6 ASA 3 B HiS
gt (km fR9) § 4T 3 € &% &I UET T BTH
JE 30° B3 45° Ia | YISt < GUrEt Uzt A9 |

From the top of a hill, the angle of depression of two
consecutive kilometer stones due east are found to be
30° and 45°. Find the height of the hill.

12.7 v Bt fegs e fAug 3 e Aes oeg ©
fiag = @oE dT 60° I »3 fore U9 @ &les a
450 J| =g & GurEt uzT A9 |

From the top of a 7 m. high building, the angle of
elevation of the top of a cable tower is 60° and the
angle of depression of its foot is 45°. Determine the
height of the tower.

13. Hle™d € o9 3 f¥q A9® JuT 3 aHlca w3 b
Hie =t oot 3 Afeg & figni 3 e @ g @
89T dz yIa d= I AU a9 & Hierg &t Garet
Vab J1

The angle of elevation of the top of a tower from two
points at a distance a meter and b meter from the
base of the tower and in the same straight line with it
are complementary. Prove that height of the tower is

Vab.
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TISHIE-10 CCG)

Worksheet-10 Circle

AHS-TA<t

Class :Xth

1. fex 539 3 feq gadt fig 3 fddhrt mugn
Juret fudghort 7 At I8

The number of tangents that can be drawn from
external point to a circle are

() 1 (i) 2 (iii) 3 (iv) 4

2. f€ 939 3 fea grodt fag 3° il muge
Juret Enrt SgrEtt gargg JEit 95| (Fe/ 39)

The Length of tangents drawn from an external
point to a circle are equal. ( T/F)

3. ¥ 949 I AIfHS AUgw Syt fHaht 77
AIEM I5 | ( HY/ $6)

A circle can have finite tangents ( T/F)

4. y& g g9 Fill in blanks:

(i) forR 99 & AUSH T 8RS fag(or)
3 St I
A tangent to a circle intersectsitin ............ point(s)

(i) 99 »i3 A<t AUTH v & AT e 3
.. SfJE TS|

The common point of a tangent to a circle and the
circle is called ...............

(iii) Ta9 & © foentt I dez T ur g
e T3 |

A line intersecting a circle in two points is called

5. 7ad TP W3 TQ €I 0 &8 fai 899 3 € AUIH
Juret fem 397 I6 f& £P0Q =120° 37 £LPTQ T H&
JI

If TP and TQ are two tangents to a circle with centre
O so that £ZP0@Q =120° Then £PTQ is

(i) 70° (ii) 80° (iii) 60° (iv) 50°

/

T'<T:; ()

e

6. g fig IR faTa@ T IeI S 3 AN TS 3
J,959" 3 AUIH JuT & BIET 12 AN J| 99 &7
MU U3T &9 |

The length of tangent from a point at a distance 13cm
from centre of the circle is 12 cm. find radius of circle.

7. fiu a3 fx far Jag € fan feorm T fafort 3
Prove that the tangents drawn at ends of a diameter
of a circle are parallel.

8. fea ga9 § o998 Uit 3° goer fEx I39gH
ABCD fifgnr famir 31 fio a9 fa AB+CD= BC+AD
A quadrilateral ABCD is drawn to circumscribes a
circle. Prove that AB+CD= BC+AD.
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9. 75T ¥ AHITIT JAa & »iIUf™ g 15
FH »3 17 A J& 3T 3 999 < #ier < et
U3T I9 7 8¢ 949 ©f AUTH JuT I |

If radii of the two concentric circles are 15 cm and

17 cm , then find the length of the chord of the larger
circle which touches the smaller circle.

10. 799 fx fig P 0TI T faH T9 '3 PA,
PB FUJH JuTel mUA &g 80° T J& '3 Sdnit d&
3T U3T  POA T |

If tangents PA and PB from a point P to a circle with
centre O are inclined to each other at angle of 80°,
Then find POA.

11. I5 fe3 fg39 90 deg =& Ta9 o PT f¥x
HUIH J4T J| 3 PT =12 AH, AP = 8 AH d< 3t
JI & midy fomr usT a9 |

In the below figure PT is tangent to a circle with
centre O, PT =12 cm, AP = 8 cm. Find the
radius of the circle. .

12. 939 fRe (3 m I39 € gHeg g AnZ B 3
it € AHIST AUTR Suet g5 fie ¢ 3 fidt Augr

Jar {03 m e D i3 E 3 deet I T a9 fa
£ DFE = 90°

In figure. { and m are two parallel tangents at A and

B. The tangent at C makes an intercept DE between
the tangent £ and m. Prove that

£ DFE = 9(0° A D
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TIAHIE- 11
Worksheet-11

Constructions

AHS-TA<t

Class-Xth

1) »Jy Ia9 fEg gfenr a= ...

Angle in a semi circle is of ............

Z)WEWQWW?WW@?@
faStort FuTrE et Aot 7 AaEt I8 2

Write the maximum number of tangents that can be
drawn from an interior point to a circle ?

3) Jag <9 fda wigufen 49 7 Fae 75 ¢
How many radii can be drawn in a circle?
4) 4.5 A1 @ f&x Jumis AB fig ni3 ferer g
AHESAX fHi9 |

Draw a line segment AB of length 4.5 cm and
draw it’s perpendicular bisector.

5) 5.4 AH 3 i qunds 9 w= ferg 2:3 ©
nieurs feg €31 SaF 31T § HU |
Draw a line segment of length 5.4 cm and divide it
in the ratio 2:3. Measure the both parts.

6) ga9 & AUIH T, Audn fig 3 AT %
wigufen™ ‘3 Jer T |
The tangent at any point of a circle is ............... to the
radius drawn through the point of contact.
7) 3 AH »JU fenmR T8 da9 Enft fan gradt fig
3 € AUIR Juet i)
Draw a circle of radius 3 cm. From an exterior point,
draw a pair of tangents to the circle.

8) 4.5 AM, 5 AH ™3 6 AN 3a< ¥ fex f3ga ot
F95 &3 w3 fag fea 99 f337 o 995 a3 R o
gt o3 3T f3ga € gaet & - T IR
Construct atriangle of sides 4.5cm, 5cm and 6 cm and

then construct a triangle similar to it whose sides are %
of the corresponding sides of the first triangle.
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9) ¥ AWt f3gm &t gger a9 fReT ¥ g <
BIET 6.4 AH 32| feg f€a J9 f33d < I9& a9 fAm
Construct an equilateral triangle having side 6.4 cm
each, then construct a similar triangle whose sides are %
of the corresponding sides of the given triangle.

10) 5cm WiIU fenA 2 ¥x g9 3 nifadn €
UIH Juret fig 7 wiuR @9 60° € d 3 o
J= | Draw a pair of tangents to a circle of radius 5cm
which are inclined to each other at an angle of 60°.

11) 8 AH B e Junis ABfig | AZ Ied Ho o 4
HH »30 fentH & £ 959 »i3 B§ JEd He & 3
AN »i9g forrm T f8q J9 g99 Y 1999 g9 ©
¥TI 3 THJ IaI et AUSH Juet € I8 J9 |
Draw a line segment AB=8cm. Draw a circle of radius
4 cm taking A as its centre and draw another circle of
radius 3 cm taking B as its centre. Construct tangents to
each circle from the centre of the other circle.
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TIIHIZ-12

Worksheet-12

dad 5% HYU3 839e®  AHS-TA<h

Area Related to Circle

Class-Xth

1) 99 €7 WdT 31.4 AH J | IIJ & »idyg fena »i3
¥39E® UST &9 | The circumference of a circle is
31.4 cm. Find the radius and the area of the circle?

2) & ydtor farer wigufen™ 28 AH T, 352 Ht.
T 3 II5 BET fdat @9 WHr?  How many times
a wheel of radius 28 cm must rotate to go 352 m?

3) 759 »idU g9 = UfgHu 36 AH d<, 3T BAer
fent@ U3T &9 | If the perimeter of a semicircle is 36
cm, find its diameter.

4) f&g Ffeas & g 11 fa . gt 3w I35 et
5000 T WHET I | IX T fenl™@ U3T 9| A bicycle
wheel makes 5000 revolutions in moving 11 km. Find
the diameter of the wheel.

5) fea wat &t fHiet =t 7t 15 AH Bt 31 fem
HET gorar 35 fife 8 3 ISt gt e UsIes usT
9| The minute hand of a circular clock is 15 cm long.

Find the area of the face of the clock and howfar does
the tip of the minute hand move in 35 minutes?

6) fex I, A &% a1t § dfent famrr 9, &t

gt 16 . 3 7o & 23 v, a9 fost ot 91 fem
3% a1t § 996 wEl foal @1 Har fHedit? A rope by
which a cow is tethered is increased from 16 m to 23 m.
How much additional ground does it have now to graze?

7) 14 AH ni9y fenmr @@ ¥ da9 <t &g Ater
959 € ATI 3 AHAE TRE J1 B T UF w3
TIoW I49 43 ¥ 439E® UST 9 | A chord of a circle

of radius 14 cm makes a right angle at the centre. Find
the areas of the minor and the major segments of the
circle.

8) 14 AH nJU fod™ T8 a9 ©f fEx fier gag ©
I 3 1200 T T gTEE I HAS 9AJ ¥ @
Y39e® U3T A9 | A chord of a circle of radius 14 cm
subtends an angle of 120° at the centre. Find the area of
the corresponding segment of the circle.
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9) &3 fg39 ff9 ABC f&a mHaet f3gw I fam i
A AHAE J1 AB, BC "3 AC § fenA Ha J »igu
Id9 g7 91T I5| AR 9 AB=3AH ni3 AC=4
FAHJ | 991 o3 3791 ©7 U3ISH U™ o | In the given
figure, A ABC is right
angled at A. Semicircles are
drawn on AB, BC and AC as
diameters. It is given that
AB =3cm and AC = 4cm. B C
Find the area of the shaded region.

10) AB M3 CD JAEJ O M3 MIUTATH 21 AH i3
7 AH % € AH JTJF 999t © gHEd W
T 9U I51(28 f939) 759 AOB =
300 F, 3T Jate ST &7 HIILH YT
X1 AB and CD are respectively arcs 21em
of two concentric circles of radii 21 cm C
and 7 cm and centre O(see Figure). If Tem

AOB = 30°, find the area of the 0
shaded region.

Yy 11) &3 a2 9339 €9 JaeT a1 T u3de® usT
aq, fAr <9 T3 ABCD® fAat A, B,Cm3 D3
ITI He o fadhnt areshert arut wium <9 3A=t AB,
BC, CD 3 DA ¥ ZHIT HU f¥ent P,Q,R ni3 S €3
Afent T U &9 Jeett I8 1(1=3.14)

Find the area of the shaded region in the right sided
figure, where arcs drawn with centres A, B, C

and D intersect in pairs at A P B
mid-points P, Q, R and S

of the sides AB, BC,

CDand DA respectively of

a square ABCD (Usen=3.14).

QlZcm

12) fg39 f3g, 28 Hl. g7 <& TJdrad ¥MiG © &
UTH JITd g®f gt formdhntt fedrshntt arethort
TS 17T I9K TSI I fomiat ©7 S(eg &mis ©
feaget & Jeet fig 0 J, 3F TITa9 Hmis »is &
Tnit famantt T 839esT T A3 UST A9 |

In Figure two circular flower beds have been shown on

two sides of a square lawn of side 28 m. If the centre
of each circular flower bed is the point of

intersection O of the diagonals of the
square lawn, find the sum of the areas
of the lawn and the flower beds.
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T9SAHE-13 AT T U39eH M3 e85 AHTS-TAST

Worksheet-13 Surface Area and Volume Class- Xth

1) fH®® &9:( Match the following):-

(i) I& = WmfE3E (Vol of Sphere) nr*h

(i) we= =7 »fE3E (Vol of Cuboid) Ibh

(iii)g®& BT mME3% (Vol of Cylinder) inr

3
o 1
(iv) 73 & »rfess (Volof Cone)  3Th(R® +r2+ Rr)
1 2

(v) f&da = »ife3s  (Vol. of Frustum) 3 h
2) ¥t gt 39 (Fill in blanks:-)
(i) wee & d% AZT T U39 Total Surface area of
CUDOID . e e e a e
(i) ¥%s € & AZT T u39eH Total Surface area of
LGV 110V 1T N
(ili) »9UdS ©F d% AIT T U3Je Total Surface area of
HEMISPREre ... oo ee s
(iv) Hg & &% AZT ¥ U3JeH Total Surface area of Cone
(v) 23 € 4% AT €7 U3JeH Total Surface area of
Frustum ............

3) wE T »fess 64me J1 fem we & 37 ust

&J | Volume of cube is 64 cm?. find the side of this cube.

4) & AN muTd € MIT fonr »i3 BaTet @%
H3 nf3 H$s9 € nifess &9 A9U R IFind the
relation between volume of cone and cylinder where
the radii of their bases and heights are same

NN ~

5)Jda & W fen T niguts JdT|
The ratio between circumference and diameter of a
circle is
(i) m:1 (i)r:m (iii) 1:2 (iv) 2:1

6) Hg & Jifenit @ nifEsst @ nigu™s 64 : 27
J< 3 BIaT T UIISH' T nigU™s UST AT | If the

volume of two spheres are in the ratio 64 : 27 Find the
ratio of their areas.

7) 10 AH 37T T& WE 3° 5 AH 3T T& fdd wE
IS AT ASC I& 7 A cube side 10cm s cut into
cubes of side 5 cm . How many cubes are formed ?

8) 3AT 10 AH & fEx wzag g% © uad

& nigu giwr Jftmr Ifenr J1 »igy 1% T U 3 20
fen/ ot I AeeT™ J? A cubical block of side 10 cm is
surmounted by a hemi sphere. What can be the greatest
diameter of the hemisphere ?

9) FHI'T 3 AH, 4 AH W3 5 AH MIufeommA?

=& Ug T o BA dfent § e ¥ B 57 3H
Ji&r gETfen famr 1 R 1% = wigy foum usT
I Metallic spheres of radii 3 cm, 4cm and 5 cm
respectively are melted to form a single sphere. Find
the radius of resulting sphere.

10) 5.5 AH X 10 A X 3.5 AH UAST @ fex

WTT 78T © BT 1.75 AH fonma i3 2 findt Aeret
=% fd& gt © fHfamm & fuw® s u=am | How many
silver coins with diameter 1.75 cm and of thickness 2mm
must be melted to form a cuboid of dimensions

55cm X 10cm X 3.5cm ?

WS-13(F)



11) 3 Ht fenrA & yg 14 HF €t Jifggret (3uiEh)

3 yfenr Ater T fer 9 foast it yg T 899
UH 4 M 931 fEx 9a9a9 9839 I8 I AHS
U % S o T Y9 T g6 gErfent der J1 fen
9937 < Gt uzT A9 |
dug 14 m deep. The earth taken out of it has been
spread evenly all around in the shape of a circular ring of
width 4 m to form an embankment. Find the height of
embankment.

A well of diameter 3 m is

12) far fgdx © fAfontt © u39e® gHe9

4 AH? M3 16 AH N3 B9t 15 AN I° 3t BRer
fE3s W3 TIT AT T U39ESH UST IS | If areas of
circular bases of a frustum are 4 cm? and 16 cm? and if
height is 15 cm then find the volume and Curved Surface
Area of the frustum.

13) fg39 9 feure &F @ wifess UsT 9 |

Find the volume of the solid shown in the figure.

14) € I@HT™s W= © Mg ©f B a3t

&% gfent I fAr 8 I&H Jue © &L 99 71
Mg U3 98 I¢ I& | W Tt yATg
(dimensions) 15 cm x 10 cm x 3.5 cm I& | JJ U3 &7
g fen™ 0.5 cm W3 JIfdam=t 1.4 cm ?IS’TIQI_S’
FHHES 79 Bagt T nifess usT &9 (939 99)

A pen stand made of wood is in the shape of cuboid
with four conical depressions to hold pens. The
dimensions of the cuboid are 15 cm x 10 cm x 3.5 cm.
The radius of each of the depressionsis 0.5 ¢cm and
depthis 1.4 cm . Find the volume of wood in the

entire stand. ( see figure)
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TIAHIZ-14
Worksheet-14

ez fefams

Statistics

AH3-EA<T

Class- Xth

1. ufgshot U yrfafza Afiret g1 Hoqrs uzr
I |
Find mean of first five natural numbers.

2. HuHs, Hosr ni3 998 @9 ot A9y J|
What is the relation between Mean ,Mode,
Median.

3. 395 fad yarg = Jer I, &1 TR |
How many types of ogive are,Name them.

4. fag 3 2w faAH w3 ‘3w fapn T 39
dew 75,87 fie 3 fufsA o9 oo) I Bg =
FeST e, My 8er J|
Measure of central tendency is represented
by the abscissa of the point where less than ogive
and more than ogive intersect is called ............

5. fuy®E a9 Match the Coloumn

dq®H 1
HOHS (mean)

THH 2
L+( )h
2 fi
L+(—fl il h

n
E_C'f
f

HIBA (mode)

Hftar (median)

2f1-fp-f2

6. HAT TIBK 45 M3 HUH™S 27 I= 3T Hfger uzT
&9 | If Mode is 45 and Mean is 27 , find Median.

7. ufg@het UF fAAs Afunret g HoHs U3t 34|

Find Mean of first five even natural numbers.

8. FUBK U3T I (Find Mode)
) 2,3,4,3,5,6,3

( i)

o

<IIMIIH
(Class
Interval)

RIS EISELY
(Frequency)

3-5 | 5-7 | 7-9

9. HUHS UST &9

. (Find Mean)

<Jdr
3T
(Class

Interval)

el-11
SI-¢€l1

LI-ST
61-L1
12-61
£2-1T

S§C-€T

o)

g3gTd3T
Frequency

10. Hfoar usT &9

:Find the Median

68-59

I Ni3TH
Class Interval)

S9T-S¥1

SOI-S8
ST1-S0T
Sy1-621

S81-S91

S0T-S8I

o

REICEICEL
(Frequency)

W

13 20 |1

~
(o]
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11. f&3t Aot 9 7 HuH® 25 3R 3T p e H®
UST 9|
Find p if mean is 25.

ECEIRAESUEY] o| 2| 8|83

1 1 1 1 1

(Class Interval) s | 8181383
EISEISEY

(Frequency) nwlxo | Glos | o

12. F0 Y9 T 396 M3 Ue Y9 T 396 TG,

fer 3 Hfosr & UsT I Draw more then and

less then ogive, Also find median

13. J& €3 vidfant & HuHs »i3 HitsT usT 9|

Find the mean and median of the given data:

s | 2 B 2| 2|2
Class Interval | 3 = = % 8
(@) () (@) () (@)

EISEEISEY
Frequency ) = o o S
14. &3t Arast 99 49 HOH® 57.6 d< d< 3F

fLHE H® U3T I |
Find f; andf, if mean is 57.6

©
s | 2|52 2288
|

| | | | | | —_

£ lu|lao| 9| x| ol o

Classinterval) | & | & | & | & | & | & | &
grggra3T

(Frequency) | R | oo | © | S | 8| o |

SIdT M3JH ol a2l ol 8o ‘:%(
] e} o o 0 )
(Class s i | i i o~
o » o)) x o 5 —
Interval) ele|le|lo 8|9
[«}]
EICEISEY
(Frequency) | ™ | = N | ]S
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=IIHE- 15 ECTU AH3-gA<T

Worksheet- 15 Probability Class-Xth
1) AI=E T 3T B, 9) o faA weaT @ Ag=eaT 125% J A=t J7
Write down formula for Probability.............. (Tt /&)

2) (|) foH wesT € ITUJE o AZ=ET + & TUIS Probability of any event can be 125% ? (True/False)
g AgesT =
Probability of occurance of any event + Probability of 10) ¥ U2t <9 144 999 I& AR feg' 20

non-occurance of any event=.............. yJg Is, for Ut &9 fox g®g niged gag
Sfent™ famrm, Ages U™ 9 fa 9%

(i fadt wesT 7 &t Tug Al & AgeaT (i) ¥9Tg I (ii) ¥9¥ &7 I |

......... Jet J1

What will be the probability of that event which can There are 144 bulbs in a box in which 20 are

not happen? ............................................. damaged_ One bulb is drawn rand0m|y from the

box, Find Probability of the bulb
3) »ifAdt wesr fAreT & TuTer ferfas I° (i) Damaged (ii) Not Damaged
o AgTesT Jet T

That event which will surely not happen, the
probability of that eventis.......................

4) fgst wes T Tugs ferfes =, wifadt
wes € AEaT ... e JI

That event which will surely happen, the probability
of that eventiis........ccccuue.

11) © UH feda HS AT I5| As=ar U3T

5) fa/ wesr € AT . I IFTadt T &9

Aot | (i) Ffamret T A3 8 92 |

The probability of any event can not be more (i) Aftmret @7 73 We 3 ue 10 39|

1411 o T Two Dice are thrown simultaneously . Find the
probability of getting:

6) for wear & Ag=aT e 3 (1) Sum of numbers are 8.

22 &dF J Aot | (2) Sum of numbers at least 10.

The probability of any event can not be less

than......ccooeeieeiiicns

7) #=9 P(E) = 0.05 I 3TP(EadT) &t
AgTaT ot J7?
If P(E)= 0.05 then find the probability of P ( E not)

8) fam wear € Ages fge=zHa J At J|
(AJT/a%3)
Probability of any event can be negative?
(True/False)
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12) f&a 88 39 10 TS, 6 sBMIT »i3 4
It diet I8 | for 8% &9 fEx are noed
gTI9 =t et | AgTeaT UST oJ fx g7d9 o=t aret
are:

(i) IS &7 I= (ii) IIT I= (jii) FH IL (iv)
AeT < |
There are 10 black balls, 6 blue balls and 4 green
balls in a box. If a ball is drawn randomly from the
box , find the probability of getting (i)Not blue (ii)
Green ( iii) Black (iv) White

13) f€x uH § & T79 Hient e

J,AgesT U3t 9 fx Gug niBE T wix: -

(i) M3 (ii) 2 3 6 © fegaa (iii) 2 (iv)
IGEESGES

A dice is thrown once. Find the probability of
getting: (i) Prime number(ii) Number between 2&
6 (iii) Odd number (iv) Even Number.

14) feq U2t 29 1 3 90 3= fodnrt

WIS 979 = ATl J, AIEsT U3T 39 fX d=t
et ude © 83 wifas Aftnr

(i) © viat =& (i) €T ygs =3I (iii) 5 & <3t
T @ (iv)AA3 Bt (v)gia ’ftmr (vi) 3
M3 5 &% 3T AF TH AT I

There are 1 to 90 numbered plates in a box. One
plate is taken out. Find the probability of getting a :
(i) Two digit number (ii) a perfect square (iii)
numbers divisible by 5 (iv) Even Number (v) Odd
number (vi) Numbers divisible by 3 & 5

15) fea daft 337 @&t 52 Ufamt &t 3 <F
Jict feg 8 U3™ wigsx gag dfen AT T,
AsTear U3t &9 f& sfen™ famm U137 - (i) &% Jar
T (i) 3T T (i) ffe T U3t (iv) gTAT
(v) & JdT ©7 IA<II U3T
(vi) TIH T J&H (vii) U'a =7 10 (viii) fo3t &
FaH (ix) &2 &€ 4 (x) & Ja1 € FAH (xi) T
Jar = f&ar (xii) ISH
In a well shuffled pack of 52 cards one card is
taken out. Find the probability of: (i) Red card (ii)
face card (iii) Diamond card (iv)King (v) Black
face card (vi) Jack of spade
(vii) 10 of heart (viii) Queen of club (ix) 4 of
diamond (x) Queen of red colour (xi) Ace of black
colour (xii) AlJack

16) € fHfomrt 3 fead Garfeont Afer T |
Agea U3T J9 (i) ue we fex fg3 (i) fu 3 <u
fe&g Uz (iii) f€a f93 Two coins are tossed
simultaneously . Find tail (iii) one head.the
probability of getting (i) at least one head (ii) at
most one tail (iii) one head
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W.S.-16 Real Numbers, Polynomials, Pair of Linear Equations & Quadratic Equations AHTS-10ST
TR3fex Afunret, ggue w3 € yet &g it mitass @ A3

1) fegat f&8° fagzT s@s AT I 2( Which one of the following statements is true?)

a) I AYIS Aftmr fex yIs Aftmrm J1( Every integer is a whole number)

b) I UTTHT Hitm™ fEx AYT& Hitm J1( Every rational number is an integer)

¢) I mufgnT Afunr f¥a TA3fex Aftmm J1( Every irrational number is a real number)
d) I3 A3 At f&a niufane A J1( Every real number is an irrational number)

2) 'S THTIT TIATE JIT FIUT p(x) T fAgat <t fasst 9 1
The number of zeroes of the polynomial p(x) represented by the graph - %\ /
is: - Vi B L
i ]
a)l b) 2 c)3 d) 4 X i
Y

3) fegst &9 faozr gguet x° —x° + 2x -2 = fAET I7
Which of the following is a zero of the polynomial X=X +2x-2?

a)l b) -1 c)2 d) -2
4) gguT 2x° —6x+1 ¥ fAEI’ T IE5e® J: The product of zeroes of the polynomial 2x° —6x+1 is:

1 1
a) 3 b) -3 c); d-3
5) IIUT fix), Tt fAest <t farest, fam T e It fidsT 3, feg os: ;
The number of zeroes of the polynomial f(x), whose graph is given below, is: ‘
a)l b) 2 c)3 d4 Xt X
6) © w3t ggue, fAr et fAgat 3 m3 4 I3, 8T T: |
The quadratic polynomial, whose zeroes are 3 and 4, is Y
a) x> =7x+12 b) x* + 7x +12 c) ¥ —7x-12 d) X +7x-12
7) € WSt gguE 3x% + 15x + 12 € fHeq:
a) ¥ UATSHA T | b) €< fg=3Ha T3 |
) & us=Ha iz f&q faz=sux J1 d) 99799 5 UJ3 B 95 T I3 |

The zeroes of the quadratic polynomial 3x2?+ 5x+ 12 are
a) both positive b) both negative c) one positive and one negative d)equal in magnitude, but opposite in signs

8) fa3T I fa 35 w3t gguT ax’+ bx’+ cx + d Tnit feat f&5° f¥x fAeg 0 I, 37 gt © AT @ JEaes J:
Given that one of the zeroes of the cubic polynomial ax® +bx? +cx+d is zero, the product of the other two zeroes is
a)—< b) < c)0 d)—2

a

9) I3 fodtnt migaer feg” faadt x U9 € AHG3T Jur § TIASE O
Which of the following equations represents a line parallel to x-axis?
ajx=y b)2x+3=7 cy=4 d)x=3

10) 7d AHIITET dx+ 5y =213 12x +(p+ 16) y= 6T 13 & &3 I% Ta, 3T p T HS J:
If the pair of equations 4x+ 5y =2 and 12x+ (p + 16) y = 6 has infinitely many solutions, then the
value of pis

a)1 b)—1 )2 d)-2

11) It AHtIIE & 73T 3x+4y+15=0 W3 9x+12y =75 =T

a) T IB &It I b) &I IS TI ) € I& TS| d) &3 IH TS|

The pair of linear equations 3x+4y+15=0 and 9x+12y =75 has

a) no solution b) one solution ¢) two solutions d) infinitely many solutions
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12) ¥3 Ut &g £ famst €t a5t 5 km/h I1 &g 2 Wie 9 15 km st € Tom &t femr
&g Aiet T ust € g & aSt o 9

The speed of a boat in still water is 5 km/h. It goes 15 km downstream in 2 hours.

What is the speed of the stream?

a) 2.5 km/h b) 2 km/h ¢) 1.5 km/h d) 3 km/h
13) IHaTS 2x+y=7 M3 x-2y=1 ¢ < Ia:
a) AHT3T Jur<t b) AUTST gyt o fdg (1,3) e e d) g (3,1) Idc®
The graphs of the equations 2x+ y=7 and x— 2y =1 are
a) parallel lines b) coincident lines  c) intersecting at the point (1, 3) d) intersecting at the point (3, 1)
14) A9 ax’ +bx+¢c=0 T H& J&: The roots of the equation ax + bx+c=0 are
a) bty 1;1—4ac b) bt/ I;Zc—4ac 0 —b+ 217:—4ac d) — 2;
—b+ —4ac

15) 739 AHIFIE 3% —4x+c =0 T HS 93799 T3, 3' ¢ T HS
If the roots of the equation 3x* —4x+c =0 are equal, then the value of ¢ is

3 4 9 16

16) 75T FHiEIE" ax’ +ax+3=0 m3 x* +x+b=0 = HisT HS x=1J 3tab T HS T
. . 2 2
If x= 1 is a common root of the equations ax” +ax+3=0 and x° +x+b=0, then the value

ofabis
a)3 b) 3.5 c)6 d)-3

17) AHIFIE ax? 4+ bx + ¢ = 0 ¥ HS II'IT J&JI HAT :
The roots of the equation ax? + bx + ¢ = 0 will be equal if:
a) b* — 4ac > 0 b) b* — 4ac < 0 o) b? —4ac =0 d) 4ac =0

18) fex € wst mftass € v® 1 »i3 3 351 Aftags O
The roots of a quadratic equation are 1 and 3. The equation is

a) X’ +4x+3=0 b) X*—4x+3 =0 o)’ +4x-3=0 d) *—4x-3=0

19) € WSt AtadE 2X°-5x+1=0 &

a) T TUJ THIRI HS IS | b) € ¥I79T HS I |

c) 3ET T THIFRF HH &I T d) € 3 U HS TS|

The quadratic equation 2x*- 5x + 1 = 0 has

a) two distinct real roots b) two equal roots ¢) no real roots d) more than two roots

20) R ax’ +bx+c= 0 € H® AHS I6 3 ¢ 99789

If ax® +bx +c = 0 has equal roots, then c is equal to
—b2

—b b b?
a) z b) E C) E d) E
21) AHIFIE (@ — b)x? + (b — c)x + (c — a) = 0 T YS' T J=5EH J:

Product of the roots of the equation(a — b)x%> + (b—c)x + (c—a) =0 is

c—a b—c c—a b—c
Ay, b) = ) 4y

22) FHIFIE x*+ px+q=0 T HB' T AISH M ITHEH GHIT 4 W3 - 3 J| p M3 q © JHIT HS Ta:
a)a M3 3 b) -4 M3 -3 c) - 4mM33 d) 4 ™3 -3
The sum and the product of the equation x*+ px + g = 0 are 4 and — 3 respectively. The values of p and q are

respectively
a)4and 3 b)-4and-3 c)—4and3 d)4and -3

23) AHITEE x* - 2x—35=0 ¥ HS T&: The roots of the equation X’ —2x—-35=0are

a)-5,7 b)-7,5 ¢)-7,-5 d)7,5
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W.S.-17 Arithmetic Progression and Triangles AHT3-103T
wig Jfe3x sFit w3 f3g0

[ Q)

1)7 2 ,a,4A.P. 39 T3, 3ta T H® J: If g ,ad,4A.P.are in A.P., then the value of a is:
a)l b) 13 0% d) =

2) A.P.:21,42,63, 84, .. T fada=t U= 210 I? Which term of the AP: 21, 42, 63, 84, ... is 210?
a)9 & b) 10 3t )11t d)12 <t

3)f&x AP, fS9 , AT a1=1, an=20 M3 Sn=399 37 n ¥ITgd J:
Inan A.P., if a1 =1, an=20 and S= 399, then n is equal to:

a) 19 b) 21 c) 38 d) 42

4) 7 @y, Ay, G, ... Oy, ST 133 d 3% APTRT I5 3F ay, as, as, G3.....

a) A3 ni3T 16 d &% A.P f&g J=ar| b) ATS »i3T d &% A.P. f&9 J=dr|
) A8 W33 4 d &% A.P. &9 J=ar| d) AP f&g &3t €t § AAE |

If a), a,, a3, ... upto a,; are in A.P. with common difference d, then ay, as, aq, ai;
a) must be in A.P. with common difference 16 d b) must be in A.P. with common difference d
¢) must be in A.P. with common difference 4 d d) may not be in A.P.

5) far A.P. i85 a13— a14=323J,8H AP = ATST ni33 J:The common difference of an A.P. in which @15 — @ 14=32 is
a)8 b)-8 c)—-4 d)4

6) Td Ufadtnt 20 fars urfgfza Aftmret Tr Ages, ufodut 20 2ix urfafsa Afanret € A3e® @ k a7 T 3
k T H® J: If the sum of first 20 even natural numbers is equal to k times the sum of first 20 odd natural numbers,
then K is equal to:

a)-- b) > 0= d) =

7) A.P.:5, 8,11, 14, ...€" 10 = yg J: The 10M term of the A.P.: 5,8, 11, 14, ... is:
a) 32 b) 35 c) 38 d) 185

8) A.P.:10,6,2, .. T Ufg® 16 Uygh ¥ §3&® J: The sum of first 16 terms of the A.P. : 10, 6, 2, ... is:
a)— 320 b) 320 ¢)— 352 d) - 400

9) feg A.P. f&9, a=-7.2,d=3.6 w3an=7.2, 3t n HI'=T J:
Inan A.P.,ifa=-7.2, d=3.6 and an= 7.2, then n is equal to
a)1l b) 3 c) 4 d)5

10) A.P..8,3,-2,... € n < U¥ J: The nmterm of the A.P.: 8,3, -2, ... is:
a)—2+3n b) 5-13n c) 13-5n d) 8+3n

11) A%I Aftmi™ 2,7 W3 k+4 A.P.. fE9 5, 3T k €7 H® J;
If the numbers 2, 7 and k + 4 are in A.P., then the value of K s:
a)6 b) 7 ¢) 10 d) 8

12) f&3 ar¢ fg39 &9, DE || BCI| 7 AD=2cm, AB=5cm "3 BC=7.5cm, 3°
DE ¥9799 J: In the given figure, DE || BC. If AD =2 cm, AB =5 cm and

BC = 7.5 cm, then DE is equal to

a)1.5cm b) 2.5 cm c)3cm d)5cm

13) fif37 T : AABC~APQR w3 L8480 _ 18 3 AB =20 ¢cm, 37 PQ I979T J:
ar (APQR) 25

Given that AABC~APQR and L8459 — 16 1r AB = 20 cm, then PQ is equal to
a)10cm b) 15 cm c)20cm d)25cm

TS em

ar (APQR) ~ 25°
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14) f&3 g€ fg39 &9, DE||BC J1 7 AD=5cm,DB=8cm»3 AE=7.5cm J, 3T Vi 8

EC gt
9799 J:In the given figure, DE || BC.If AD =5 cm, DB = 8 cm and AE = 7.5 cm, ’.’-'; ==y
then EC is equal to %,
a)8cm b) 12 cm c)13cm d)15cm g
u; — — .:-\(

15) &3 ar® fo39 <9, DE | |BC 7 AD =25 cm, AE= 10 cm, BD = (x + 3) cm ™3 EC = /// Y
xcm J, 3t x T WS J:In the given figure, DE || BC. If AD = 25 cm, AE = 10 cm, ._g«:“// ﬁ:%
BD = (x+ 3) cm and EC = x cm, then the value of xis // d ‘
a)2cm b) 3 cm c)4cm d)5cm . /7 "{:-t

S ps ~ . AB _BC _CAx _. // N
16)?%&?ABCWPQR%€,Q—R=E=EUS’T : ¥
If in two triangles ABC and PQR, g—i = % = % , then:
a) APQR~AABC b) APQR~ACBA c) APQR~ABCA d) APQR~ACAB

17) © 33 Enif nigRTt 3Tt 9: 4 © wiguts &g 95| feoat f3der @ 39e®t € wigu's J;
Corresponding sides of two similar triangles are in the ratio 9 : d) Areas of these triangles are in the ratio:
a)4:3 b)3:2 c)81:16 do:4

18) 7 A DEF»3 APQRTET 2D=,QW3 2R=2E J 37 :In ADEF and APQR, if 2D = 2Q and £R = 2E, then

a) ADEF ~ AQPR b) ADEF~ AQRP  ¢) ADEF~ ARQP  d) ADEF ~ ARPQ
19) feg fazr famr I f AABC~ APQR W3 Z:Eiﬁzg =231 ¥ BC=15cm 37 QR 5979

@A) — 2 If BC =15 cm, then QR is equal to

Given that AABC ~ APQR and ar (APQR) 4

a)8cm b) 10 cm c)12cm d) 20 cm D
20) fg33 f&0 TIATE MGA™T © 88 AB =6 mn3 CD = 11 m AHIS 3 U3 I5 |1 7AT

BC = 12m J,3" AD I9799 J: A

Two poles AB = 6 m and CD = 11 m stand on a ground as shown in the figure. If thm
BC = 12 m, then AD is equal to 6m

a)l3m b)15 m c)17 m d) 18 m B e

12m

21) AABC ~ ADEF, ar (AABC) = 64 cm? W3 ar (ADEF) = 144 cm? J IH EF = 6 cm J, 3T BC 9799 J: AABC ~ ADEF, ar
(AABC) = 64 cm? and ar (ADEF) = 144 cm?. If EF = 6 cm, then BC is equal to
a)2cm b)3cm c)dcm d)6cm

22) 7 AABC W3 ADEF f@9 4B = £E, F = 2.CM3 AB = 2DE J 3t 22" f3d= Ua:

a) HISdTHH U3 AHY &dt | b) AHIY UJ3 HIHAAH &1

c) &7 It ATEAAH i3 &7 It AHFU | d) AISATHH »i3 AHIY =

In AABC and ADEF if # B=/E, ZF =2 C and AB = 2DE, then two triangles are
a) congruent but not similar b) similar but not congruent

c) neither congruent nor similar d) congruent as well as similar

23) &3 91F fg39 f29, DE || BCIIH AC=20cm, EC =5 cm »3 DE =12 cm, 37 BC

¥97gd J: In the given figure, DE || BC. If AC =20 cm, EC =5 cm and DE =12

cm, then BC is equal to

a)l5cm b)16 cm c)18 cm d) 24 cm /" e

B
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W.S.-18 Coordinate Geometry, Trigonometry and Application of Trigonometry AHTS-1021

fsgem vix fanfest, faa=ist 99 A uars w3 f3a=fHst ¥ g3 Guwar

1) 7 A(-5,7), B(- 4,-5,), ¢(-1, - 6) »3 D(4, 5) ¥ g393w ¥ fAyg I%, 37 93937 ABCD ¥ 839ES J:
a) 53 23q1 fexrsinit  b) 72 =31 fearsmt  ¢) 27 231 fearetnit d) 35 =3a1 fearsint
IfA(-5,7),B(=4,-5),C(-1,-6)and D (4, 5) are the vertices of a quadrilateral, then the area of the

quadrilateral ABCD is

a) 53 sq units b) 72 sq units ¢) 27 sq unit d) 35 sq units

2) f&x f3az @ fAYT (4, 5), (1, 3) W3 (6, 7) I5| 33T T ¥39EH J:

a) 9 Igar fearst b) 2 =Ja1 fearst ) 1 =3a fegrst d) 12 Igar fearst
The vertices of a triangle are (4, 5), (1, 3) and (6, 7). The area of the triangle is

a) 9 sq units b) 2 sq units ¢) 1 sq unit d) 12 sq units

3) I3 fdentt P(-2,2), Q(2, - 4), R(-3,-4) 3 S(-5,-5) & fagsr gt Seet R 7, GT fag o
Of the four points P(— 2, 2), Q(2, —4), R(— 3, —4) and S(— 5, — 5), the point that lies in second quadrant is:
a)P b) Q )R d)S

4) f&x f3d= T faag I3 (6, 5), (4, 5) w3 (4, 10) I5| 33T T ¥39EH J:

a) 0 21 fagrdl  p) 2 eI fEAEl () 5 =TA feard d) 12 <31 feard
The vertices of a triangle are (6, 5), (4, 5) and (4, 10). The area of the triangle is:
a) 9 sq units b) 2 sq units ¢) 5 sq unit d) 12 sq units

5) ffenrt A (12, 8) »= B (4, 16) & TH® Bz & Jur s = Hu fie Tt
The mid-point of the line segment joining the points A (12, 8) and B (4, 16) is
a) (8, 12) b) (16, 24) c) (8, 8) d) (12, 12)

6) fenit A(5,-8) M3 B(-2,3) € fegag & gt J: The distance between the points A (5, — 8) and B (- 2, 3) is

a)V/170 b) 34 c) 18 d) 10

7) f&x f3az 2 g (7, 6), (-7, 6) M3 (0, 4) I5| f3dE @ ¥33e® J:

a) 9 €3qr fegral b) 14 |Iar1 fearet ¢) 1 =gqr fearsl d) 12 =gqr fegrsl
The vertices of a triangle are (7, 6), (-7,6 ) and (0, 4). The area of the triangle is
a) 9 sq units b) 14 sq units ¢) 1 sq unit d) 12 sq units

8) cos 30°. cos 60° - sin 30°. sin 60° = &% J: The value of cos 30°. cos 60°— sin 30°. sin 60° is:
a) 2 b) 1 c) 0 d);

~ . 1 . . 1 .
9) H sin@ = E% 3t cosec?d 99799 J: If sin@ = 5 then cosec?@ is equal to:

a)% b) 2 ol d)4

10) sin 30° cos 60° T H& J: The value of sin 30° cos 60° is:
1 V3 1
a)l b) 2 b d);

11) 7 0 = 30°, 37 2sin@ cos® IITIT J: If O = 30°, then 2 sinb cosB is equal to
a2 b) 2v3 V6 d) =
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12) cos 30°. cos 60° + sin 30°. sin 60° 7 H® J: The value of cos 30°. cos 60° + sin 30°. sin 60° is
a) 2 b) 1 )0 d) ?
13) A tan§ = % 3t coth FIrgT I | If tanf = %then cot @ is equal to:

4 3 4 7

14) cos45° sin 30° T H& J: The value of cos 45° sin 30° is

1 1 1
a) b) 2v2 )55 d);
15) tan13° 99799 J: tan 13° is equal to:
a) cot(%)° b) cot 31° ¢) cot 47° d) cot 77°
16) T cosf = % I, 3t tan?9 99T I: Ifcosh = % then tan24 is equal to:
a)% b) 2 01 d) 4

17) 1 cos 6 =% 37 tan2999799 J : If ,cos = %= thentan2g is equal to

a)Vé b) 3V6 c)3 d)2+6
18) A A =60° W3 B =30°, 37 sin A cos B— cos A sin B 93799 J:
If A=60° and B = 30°, then sin A cos B — cos A sin B is equal to
1 1 V3
a) b) 5 o) d) V3

19) A tan A = cot B, then A+ B §9799 J: If tan A = cot B, then A + B is equal to

a) 90° b) 60° c) 45° d) 30°

20) = sinej/%_ 3t cosec’® FIET J: If sind =\/%_ then cosec %0 is equal to

a) b) 2 01 d) 4

21) &I tand =3 ,co0sB=0 3I* B—A T HS - J=A 1 If tanA = V3, cos B = 0 ,then the value of B — A = ----
a) 60° b) 90° c) 30° d) 0°

22) 1.5m 39" fex Yux foHat 3 28.5m =F gt 3 I 18RS niur &% fordt © fang & 89T dT 45° T | foHal €t
897t U3T IF | An observer 1.5m tall is 28.5m away from a tower . The angle of elevation of the top of the tower from her
eyes is 45° Find the height of the tower .

a)30m b) 28.5m c)28m d)29m
23) 7T cos A = % 3t tand = (If Cos A = g ,then value of
tanA=___ )

3 4 4 5

24) &3 31E 939 &9, AB »13 €D FHT GOTE ha w3 h2 T% 2/=9 I5 1f¥E 0, AC
T HT

fag I1 7 AB 3 cD fig 0 I FHT'T 30° ¥ 60° AT TEGT IS 3T hirha =

In the given figure, AB and CD are towers of heights hi and 2 respectively. O is the
mid-point of AC. If AB and CD subtend angles 30° and 60° at O, then hi : h2=
a)2:1 b)2:3 c)3:2 d1l:3
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W.S.—-19 Circles, Area Related to Circle AHT3-101
AT M3 TAJ &'% AEUS U3IIH

1) fe3 are 33 @9, PA € ATT O M3 MIT fE™ 5 cm T3 JAI ©F
AUIH JuT J| AT OP = 13 cm, 37 PA I9799 J: In the given figure, PA is a \
. . . . |
tangent to a circle with centre O and radius 5 cm. If OP = 13 cm, then PA is ¥ N =
equal to /
a)8cm b) 12 cm )13 cm d) 18 cm \—
< L R

2) f&3 f937 €9, I3937 PQRS , JEJ O T T&J § TII! 39 3 gde' J |

g PD = 4cm, QB =3 cm, RC=6cm M3 SD=5cm J 3T PQII™ET J: In the given
figure, PQRS is a quadrilateral which circumscribes a circle with centre O. If PD =4
cm, QB =3 cm, RC =6 cm and SD =5 c¢m, then PQ is equal to:
a)7cm b) 8 cm c)9cm d) 10 cm

3) fex g7adt fag 3 AET 0 T& JA9 3 FEEMT § AUTH Iy fegaS 50°

T JE I 7 AUIH JuR, ga9 I fag P w3 Q3 HEEit 95 3 £POQ J: The angle between two tangents
drawn from an external point to a circle with centre O is 50°. If the tangents meet the circle at P and Q, then
£POQ is equal to

a) 90° b) 100° ) 120° d) 130°

4) feg gradt fA€ P 3 IEJ 0 T Ia9 ‘I € AUTH Ju=T PA »3 PB fER

37t fadht ardhntt o5 {3 £APB=120°J| 7 II AUTH JuT & BET 5em J
3t OP ¥I79T J: ¢
Two tangents PA and PB are drawn from an external point P to a circle with
centre O such that ZAPB= 120°. If length of each tangent is 5 cm, then OP is

equal to

a)5cm b)5.2cm ¢)10cm d) 10.2cm

5) f&3 o fI39 &9, 10 cm »3 8 cm WIY fenrA @& € g9t @ f¥q IeJ 0 J| S
7a9 8¢ 9a9 © fig P I AB f&x AUTHE Jur 32 3t AB € BaEr O

In the given figure, two circles of radii 10 cm and 8 cm have the same centre O. If AB / 0

is a tangent to the smaller circle at P, then length of AB is

a) 6 cm b) 12 cm c) 14 cm d) 18 cm \

) r (1]

6) 7 ¥ Ta9 T € »Iu fenrAt € fe9aT dz 140° T, 3F »Ig fenrAt € wiz fHentt 3 g8t AuTE Juret
fegarg d= J: If angle between two radii of a circle is 140°, then the angle between tangents hich are drawn at the
ends of the radii is

a) 40° b) 70° ) 90° d) 140°

2T g

u/ o

7) f&3 giT f939 &8, PT ITT O & Ia9 ©F AUIH Ju J1 7 2QPT=60° J 3f [\ o/ )
£PRQ 9799 J: In the given figure, PT is tangent to the circle with centre O. If 2QPT "\\ \\-.\ | A ;-"
= 60°, then ~PRQ is equal to e il
a) 30° b) 45° c) 60° d) 80° .
8) f&3 91 939 <9, APB i3 CQD AHI3J AUIH Ju=f I&5 | 7 I9 & MIu fa™ 5em T
3t pQ 99799 J: In the given figure, APB and CQD are parallel tangents. If radius of the
circle is 5 cm then PQ is equal to
a)52cm b) 9 cm c)1lcm d) 10 cm

(&l Q D
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9) T AUTH Juet fEq gradt fig P 3 AE7 0 T® X 9a9 3 fdhtt Aidhrt Ts, P :
fAe’ fg 80 e T €3 B9 751 7 97 AUIH o & BIE 6 cm I< 3T OP FIET I
Two tangents are drawn from an external point P to a circle with centre O, such that

they are perpendicular to each other. If length of each tangent is 6 cm, then OP is B 5

equal to

a)6cm b) 6v/2 cm c)6v3cm d) 26 cm

10) f&3 are fg39 &9 XPY, ITJ 0 T JxJ <f f¥x AUIH JuT J1 7 2QPY=60"°, RS
3T LOQP =.......... In the given figure, XPY is a tangent to the circle with centre O. If &

£QPY =60°then £OQP =........

a)30° b) 40° c) 45° d) 60°

11) PXET 0TS I&7 3 10cm & gt 3 f&x fag I »iz P 3 PRIIT Eif AUTH Juet I5 17 II9 T »i9T
feni™ 6 cm I, 37 93937 PQOR T ¥3Je® 99799 J: P is a point at a distance of 10 cm from the centre O of a

circle and PQ and PR are tangents to the circle. If radius of the circle is 6 cm, then the area of quadrilateral
PQOR is equal to
a)24 cm? b)36 cm’ )48 cm’ d)96 cm’

12) 3'E9 O T3 T3 ‘3 f&x gradt fag P 3 € Augm uet fudhrt et 75
fAIStt fa UIAUT B9 I | 799 IIX HUTH JUT ©F BIEt 6 cm IR 3T IAI €7 wigufenH I: The two tangents

drawn from an external point P to a circle with centre O are perpendicular to each other. If length of each tangent
is 6 cm, then radius of the circle is
a) 3cm b) 6 cm c)9cm d)12 cm

13) 7 feq ga9 © € 9y fenAt € fega9 & 100° I 3F »ey fenrAt € wis faent 3 sahr AuSH Ju=t fegag
3= J

If angle between two radii of a circle is 100°, then the angle between tangents at the ends of the radii is

a) 80° b) 70° c) 90° d) 140°

14) 4cm MIUFEN™H & TG T MFU fani™dt 83 (sector) AOB, T9 € aE9 0 ‘3 45° T az g='@er J1 &R niau fenrAt
Y3 = §39e% cm’ f9 I AOB is a sector of a circle of radius 4 cm subtending an angle of 45°at the centre ‘O’ of
the circle. Area of the sector, in cm?, is

a)m b)2m c)3nm din

15) AR 99 T WIT »3 ¥39e® AfUnid 39 3 g399 I&, BH T »igy fenrm It
The radius of a circle, whose circumference and area are numerically equal, is
a)1 fearst b) 2 fearst ) fearst d) 2 = fearst

16) f&3 912 937 129, 14 cm AT T8 91 ¥ wied AR & AUTH I9eT 8 JaI
V] o ~ ~ 22 =

fifantt (inscribed) famiT J1 gfenr wifsz ¥39 w7 839e® T : (n= —B9)

In the given figure, a circle is inscribed in a square with side 14 cm. The area of the

. . 22
shaded region is (Take m = ~ )
a) 36 cm? b) 42 cm? ¢) 56 cm’ d) 84 cm?

- o . . . . S~ N - 14 em
17) © AJYdTAH JAJT Tt gruT( Arcs), )’)1’?5):{73} JdEJd"T I IHIT 60° M3 20° €T AT

g8t I5 1 fEgat nigATdt gyt &t Sttt T wiguts J:
Arcs of two congruent circles subtend angles of 60° and 20° at their respective centres.

The ratio of lengths of corresponding arcs is:
a)2:1 b)1:3 c)3:1 dy1:2
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W.S.-20 Surface Area and Volume, Statistics and Probability AHT3-10<T
AZT T 439e® M3 nifess, niagr fefams mi3 AgresT

1) 897t 30 cm =T € fA®BsT I »i3 feATT »igu fani™ 14 em T €T 7 cm »idu fonir o 8 o= fAwsg

T8z Bt fuwsent I1 &2 fA®sg <t 89t I: There is a cylinder of height 30 cm and its radius is 14 cm. It is

melted to form a new cylinder of radius 7 cm. The height of the new cylinder is:
a) 100 cm b) 120 cm c) 140 cm d) 150 cm

2)3AT 6 cm T’ WE FI3 AT W fFT Afent Ifen I, fAE 79 WE ©F 99X 39T 2 em I 37wt & farast d2am:
A cube of side 6 cm is cut into a number of cubes, each of side 2 cm. Then the number of cubes will be:
a)9 b) 18 c) 27 d) 36

3) © fA®sTt © wigu forA T wizuTs 2:3 T w3 Bt St Barehnrt R wisutz 5:3 I Baat ¥ mirfesat v
m&U™S J: The radii of two cylinders are in the ratio 2 : 3 and their heights are in the ratio 5 : ¢) The ratio of their

volumes is:
a)10:27 b)20:9 c)20:27 d)10:9

4) € 37 U3 T wE & 3A 44 em T| fER 3 fuws & 2em niIT fenr T8 Jifent feg gefenr famr T

Jifenrt &t farsst I (m = %8@) The side of a solid metallic cube is 44 cm. It is melted to form small spherical solid
balls of radius 2 cm. The number of balls is (Take = ?)

a) 2500 b) 2525 c) 2541 d) 2580

5) f&x &9 e”aa’T fA$3T T »irarg T §39EH 154 cm’ T miS fem T mifEss 6160 cm® J1 fA®39 & @ad AT &
Y33e® J (1 == Bé) The area of the base of a right circular cylinder is 154 cm? and its volume is 6160 cm’

(r = 7 ).The curved surface area of the cylinder is:
a) 880 cm’ b) 1760 cm’ c) 1914 cm’ d) 2068 cm?

6) 8 8 cm U foi™A T8 37 3% & s I 2 cm MIT fenrA T 22 IS TT'T JIT IS | =2 Jfentt &
far==t I A solid sphere of radius 8 ¢cm is melted to form small solid spheres of radius 2 cm each. The number of

small spheres is:
a) 16 b) 32 c) 64 d) 128

7) 897ET 10 em T € fA®3T T i3 feATT »igufen™ 14 em J1 €T 7 cm nigufomr @ f&x 5= fAssg
T8z e, fuwsen J| &3 fA®sT € €97 It There is a cylinder of height 30 cm and its radius is 14 cm. It
is melted to form a new cylinder of radius 7 cm. The height of the new cylinder is:

a)90 cm b) 120cm c)5cm d) 40 cm

8) fea Hg w3 fA®sT ¥9m99 € U9 I U3 I6 w3 Bust € §uret ms I 83 © nrfesar v nigus It
A cone and a cylinder stand on equal bases and have the same height. The ratio of their volumes is
a)1:3 b)1:2 c)2:3 d2:1

9) €87Et 15 cm = fEx fA%ST I w3 ferer w9y fenrA 21 cm T1 feAg 7 cm nigufentA = fEx a2t s ga8e
et fuwmsfen 31 &3 fAgsg & €97t T : There is a cylinder of height 15 cm and its radius is 21 cm. It is melted
to form a new cylinder of radius 7 cm. The height of the new cylinder is

a) 60 cm b) 150 cm ¢) 135cm d) 120 cm

10) Hfamrat 4, 15, 19, 21, 6 = ¥fuar (Median) 3:The median of the numbers 4, 15, 19, 21, 6 is
a) 19 b) 15 c)15.5 d) 17

11) 100 A=t @7 HOH's 50 Sfentt famit HH L g gmre feg feg efunr famr fx f8x Aftnrr 150 & a3t 5%
50 & 39 3 f®nr famrr A AJT HoH™s T :Mean of 100 numbers was found to be 50. But later on, it was observed

that one of the number 150 was wrongly taken as 50. The correct mean is:
a) 49 b) 50 c)51 d) 52
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12) f&3t @3 €7 9g% o J: The mode of the distribution is :

Soret(AH f<9)Height(In cm) 130 132 135 138 140 | 141 | 150
fefenraghit & fare3t (No. of students) | 3 5 7 13 9 8 5
a) 135 b) 138 c) 140 d) 141

13) 10 fefenrgeintt @uraT Yyru3 o3 wiat =7 HOH's 32 J1 99 5 fefenragntt enimar yrus wigh &7 Havs 35
J1 AT 15 fefenrgghtt guirgr ymus st wigh @7 Hud™s o 397 Mean of marks obtained by 10 students is 32 and

mean of marks obtained by another 5 students is 35. What is the mean of marks obtained by all the 15 students?
a)34 b) 3d)5 c)33 d) 3¢)5

14) 5 f&3 nixf3ntt @ HuHs ot 32 The mean of the distribution is:

i (x;)(Marks) 4 6 9 10 15
FrIgTI37(f;) (Frequency) 5 10 10 7 8

a)7 b) 8 c)9 d) 10

15) 12 Fftmret Tr HoHs 11 I1 a9 55 Aftmi=r 2, 5 w3 6 3 FHIT 6, 5 W3 2 3% 9% 937 A< 37, &'
HOH'® J:The mean of 12 numbers is 1a) If three numbers 2, 5 and 6 are replaced by 6, 5 and 2 respectively, then

the new mean is:
a) 10 b) 11 c) 12 d) 13

16) g799793" €3 For the frequency distribution :

T3 Mi3T% Class 10-20 20-30 30-40 40-50 50-60

T39793T Frequency | 43 34 65 71 56

FISB =991 (modal class) €T Ja1 fga T: The class mark of the modal class is
a) 25 b) 30 c) 45 d) 55

17) 8 Afyniet @7 HuH™s 42 J| 7 f&x Aftmim 63 T,37 gt Aftmret @7 Hods J:
The mean of eight numbers is 42. If one number is 63, then the mean of the remaining numbers is
a) 36 b) 37 c) 38 d) 39

18) f&x §d1 {9 4 % Jrer,5 It Iet w3 6 atsit et g51 8 3T g7 79 93337t 7% o=t aigt| aIF
Idt &It T, € HI@aT J:A bag contains 4 red balls, 5 green balls and 6 blue balls. One ball is drawn at random
from the bag. The probability that the drawn ball is not green is:

1 2 4 11

19) fex umrAr feq @<t wfenr famm uh © €3 fEa wigd Aftnr i@z &t Heear J:
A die is thrown once. The probability of getting a prime number on its top is
1 2 1 1

20) f3& fAx f&ad 8&® arg| A9 fifantt 3 f93 (Heads) »8z <t & AI=aT J7
Three coins are tossed together. What is the probability of getting all heads?
3

21) 2 it &t &g 8™ ‘3 g9rag Aftmret & A1 (doublet) (3=, 22 Uit 3 fEq Rt »rB@zr) wrBz
o A= J: In a single throw of two dice, the probability of getting a doublet (i.e., getting the same
number on both the dice) is:

1 1 1 1
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